Tumne/ —@

C / jmnn@l fyﬁrz JMM‘EM&

’ %ndm@ %fm b a fz'm"ﬁ/ /JMMZ'/{Z; ?C ;@ﬁmﬁ _ﬂ)_}”ﬂ_% o
clossisaly phiclen. M4 iy o

419

Voo Clasizally mrﬁ'&/@
F > (E V>Ei“h~ E“’J‘L Canngl i@ ;ﬁ%m/

al /7/.4%/:@& i, E<)

ﬁi@/ﬁ (e (4D Ajmr@ Layrior)

gl 5;&”‘ . E-= W}”gy /f;;ﬁ e /Mﬂi‘a/ﬂ
| (E<U _
0 —(

o L ‘ [ (an, M{Z/k@( londd 1 E-U, ﬂ/ﬁuéﬁmyzg e andop)




= 1 _/;f}W/ '@
) /ﬁzm o Aoepuse, VX i piowessize consiuit OE_; 1 LE
/) and " V=0(same) v both, sides

Wﬂ ZL@ (J,/Mﬂ/ W v@fmcﬁm n ﬂ% %?/m

Pk 1A
A o | ¢ (%) = AC™ L Be™ | x<o (8)
I i 2
incident 1eflec
(Toioarde ”Mé)ﬂl/') (‘bh)ﬁm& éﬂ/} - | ]ém/'n&& 3
V=0, ﬁz‘g:E > k- L”;E (9) Bl
<

W@rz g Tne? Think 0(7[ v a %/37%40// stas Sitialin, (€ fi’bﬁ’”@)]

: ) i}zx 5 WE" 0s \/_

L= W) =F 2wk, bR v i
. Tasmitd
(o vight)




fun-

(A) ’ KX +K
%%Kgq) 10 = CG, +D€/X, o<x<l (i)

0/7/0/7/7 ?}fomﬂ?

’{&’MS@ /mm@r go1d LL)U % ][ _wﬁ@ @@/7 Lﬂ%

A (U-F) (2) (U>E
o ’ 3zanng/mﬁ,

(incident)
Ae* thx S <
(reflected)

(transmitted)

(a) (b)

(2) A typical stationary state wave for a particle in the presence of a square
barrier. The energy E of the particle is less than the barrier height U. Since the wave
amplitude is nonzero in the barrier, there is some probability of finding the particle

there. (b) Decomposition of the stationary wave into incident, reflected, and transmltted
waves.
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Problem 9.34 Light of (angular) frequency o passes from medium 1, through a slab (thickness
d) of medium 2, and into medium 3 (for instance, from water through glass into air, as in
4 Lt ) V% EM 4 Fig. 9.27). Show that the transmission coefficient for normal incidence is given by
' ¥
(n% — n%)(n% - n%) sin? (nyod)jl ( )
5 : .
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[Hint: To the left, there is an incident wave and a reflected wave; to the right, there is a

6 Zq &‘y@ 16 4 y0 é/g n ]}’L E/VI transmitted wave; inside the slab there is a wave going to the right and a wave going to the

left. Express each of these in terms of its complex amplitude, and relate the amplitudes by

) }J A im . . ‘e . . .
- ' posing suitable boundary conditions at the two interfaces. All three media are linear and
M,_/_@.g.- YO, ﬁf!ﬂ% 5 000, homogeneous; assume ) = puy = ug = ©o-l ‘
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Figure 9.27
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